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1. Solid-to-Solid Conduction
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(mean free path of the molecules < characteristic dimension of the void space(®! ¥3}))
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3) Dow 3409} 22 “Thermal Grease or Thermally Conductive Paste”E& H&Wo| wlE&tt - H=
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i 2.3] CHEEQ! EHMe BE EXE

}—5 <&, 4, 1/h.

EdA win  um °C atm h- - °F/Btu. m? . °C/W x 10*
416 2E AT, 100 2.54 90-200 T35 00015 2.64
A1, 37
304 aﬁﬂoxaﬂyg, A2, 27 45 114 20 40~70 0.003 5.28
416 2g|el 2%, G, 100 254 30-200 7 0.002 3.52
0.001-in 35 71 &4 E4, 371
oren, AR, 37 100 254 150 12~25 0.0005 0.88
10 025 150 12~25 0.0001 0.18
or2n)k, dAHT, 100 254 150 12~200 0.0007 1.23
0.001-in Z-E7]-&-4]
=93, 371
T8, AANE, 27 50 127 20 12~200 0.00004 0.07
22, Qleyhg, 27 150  3.81 20 10~50 0.0001 0.18

—“,La] 937, A% 10 025 30 7~70 0.0005 0.88

& o RGFO| 0Tk
HE gl 99

Z___]o]ﬂ- 10 Cmo] A&0] 3 cm?l 2719] 30428 2% wefe] FERHO| A4S HAAL ZE(roughness)E
o 1 pmolch o] F g F7] Ho)A 50 am o2 P&t YHAIZL WA 5 wro] FF 29 =47} 100
°CY o) HWare] AT A& 2EBE Tt

F °§ —3—37H4 AL M &, 7 IrfjollA Y A= GAT 2 AE Aot 7 wriol Mo AR

Ax 0.1)(4) S
R —8.679°C/W
"= %A T (16.3)7(3 x 10-2)2 /
A& AL F 2225 33 Zo] A4kt
—4
RN L T U

heA w3 x 10—2)2

> Ry =(2)(8.679) +0.747 =18.105

AT 100
T S Ry, 18105

Q

=5.52 W [18.83 Btu/h]

HE2EWL NIRA2E LEAEE F GAY) ot WEATY vz 7T 5 Yk

R AT = (0.747)(100)

ATp= =
*“ 5 Ry 18.105

=4.13°C [39.43°F]
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